NV SE-80'6 ECOC/LL/S
972T0L617652-613-8969-G29C-20C00Z39-4VSI

0 0 0 000 000 000 oanesadQ oiseED A BANEONPT BUILION €| BJed Sauoioepody 8p Opuo4 (18]

£S6'LLY'ST OTT'TEY'6 OTT'TEY'E 00'E90'EV8VE 000 00'E90'EVBVE (ge+/B+9B+GB+pR4ER+ZE+LB=Y) SBUODEOdY -
0 sepejenbig sa|esepa Seloudiajsuel |
0 uonisodsiq 81qi ep sosaubu| ap sejuspadx3 sosalbu)
/L6L'168'EL 9VE'BSSEL 9E'BSS'ET 00'E¥S'6vY'L6 00°0 00'EVS'6¥Y'L6 (T+M+T+HI+H+D+4+3+Q+D+E+V=|) uoIdisodsig a1q17 ap sosaibu) ap |gj0] |
0 0 0 000 000 uomisodsiq 2iqi] ap sosaibuj soiQ (2
£50°ZI0'L 959796 959'v96 00'60L'9.6'} 000 00'60L'9.6'L s8|e007 soseubu| ue sauooedoiped (L)
£50'C1L0'1 959'796 959'796 00'60L'9/6'L 00'60L'9L6} (z1+11="1) uowisodsig aiqr] ap sosaibu| sonQ 1
0 0 0 000 000 000 solpisqng A souaauo) soiO (1
0 0 0 000 000 000 SOIUBAUOD M|
0 000 000 000 Seloualajsues]
6EL'OCL 0L9'€€C 0.9'¢€2 00'608'ESE 000 00'608'€SE SO2IWQUODT SOANUSDU| SO0 (S
0 0 0 000 000 000 soipauLaju|-sooaday ap uoesusdwo) ap opuod (!
628'€0L 619'60F 619601 00BYY'ELL'L 000 00'8¥P'ELL’L SOABNN SejIAoWolNy 81qog ojsandw (g
zZeg'LLL 8.Z'65 8/Z'6S 000kL'LET 000 000L}'LET NYS| uoioesuadwo?) ap opuo (2!
0 0 0 000 000 000 SONJIYaA 8p 0sn o euaua] (11
008'L00°} 195°20L 195'20L 00°L9€'¥O0L'} 000 00'L9€'¥0L'L (Gl+p1+E1+Z1+11=1) [BOSI4 UOIORIOGR|OD B| 8P SOPBALIRQ SOARUSIU| |
0 0 0 000 000 000 seAljelapa4 sepepiju3 se| ap sosalbu| so| 8p uoIoeZ||IqeIS] ap opuoy (LY
65Z'8L9'} €96 '6¥E £95'6¥¢ 00'2¢8'L20C 000 00'228'L20C ejuay | 81qog ojsandul| |ap opuod (0LY
ozv'8lLL'} ¥zo'9le ¥29'9lE 00°050'GE0°C 000 00'050'GE0°2 |lesaiq A seuljoses (6Y
0 0 0 000 000 000 08[0J}19d ©p UQIDORIIXT 21g0S %/ 1€ (8U
0 0 0 000 000 000 ajqedioijed |eiepa- UOIOBPNEDSY B| 8P %9EL 0 (LU
vz 'vig G99'IZE 599°'LZ¢E 00'906'GEL} 000 00'906'SEL'} soiaieg A LQIoNpold 81qog [enads3 oysendw (gy
0 0 0 000 000 000 S0INQJE00IPIH 8P UQIoJELX] 8p Opuo4 (SY)
0 0 0 000 000 000 uoioesuadwo) ap opuo (py
692'8¥8'8 090'195'C 090'195'2 00'6ZE'60¥F L L 000 00'62£'60% L1 uoIoepnesay A UQIEZI[EDSI4 Bp OpuoH (£Y
80.'£92'6 259'0.8'2 269'0/8'C 00°09€'¥EL'ZL 000 00°09€'VEL'CH |edioiunpy ojuawo- ap opuo4 (gy
£8G'LEE'OF €£50'EV0'2L €50'EV0'CTL 00'9€9'08€'2S 000 00'9€9'08€ ¢S sauoiedidied ap [e1auag) opuod (LY
98'099'29 119'Z9¥'8) L19°'29v'8L 00'E0L'EZL'L8  |000 00°E0L'EZL L8 (1 LU+0LY+BU+8U+2U+OU+GU+PU+EU+ZU+LU=H) SBuoDBdDINEd 'H
0 0 0 000 000 000 soloIAes A saualg ap sejuan Jod sosaibul ‘9
61.'799 ?99'LLL ?99°LLL 00'€9€'9LL 000 00'€8€'9LL sojuaiweyoanoldy 4
598'91L- 065'LS 065'LS 00'62L'0¥ 000 00'5Z.'0F sojonpold ‘3
691'986'Z 615'851'1 615'85L'L 00889760 ¥ 000 00'889'¥60'¥ soyoaseq 'Q
0 0 0 000 000 000 selolapy ap seuoNgUuo) D
0 0 0 000 000 000 |e1nog pepunbag ap sauoiepody A selong ‘g
yE8'2ea's ¥€L'00L'C ¥€2'00L'2 00'895'€€L'L 000 00'895'€EL'L soysendw| v
uoroisodsiq 21q1 @p sosalbu|

opepnesay opebuanag opesyipo it o (p) opewns3
(a) e1ouasapg d)/ssuoideldwy (2) oydasuo)
0sa13u|
£Z0Z 30 OZYVIN 34 L€ TV O¥3N3 34 .} 7130 0A0H3d
YHONOS ‘WNovd 3ad OIdIDINNN
G Ojewlo

4071 0av11v.L3d SOSIUONI 3a OJILITVNY Oav.Ls3
IVHLSININL VHIIONVYNIA NOIOVINEOANI




WV S€:80:6 €C0Z/TT/S

9ZZT0L6TTESR-6T2-8969-579Z-70Z00Z39-4VS|

y 0 S3L JIN3QIS3Hd -
/ . .
f MYV Z3a DNV N 7 ﬂw \«anwWwwW&\nwuﬁV\m% S
"HOSIWA 13a 21d0¥d'NOS A SOLIIHYOD IANIWIIEYNOZYY NOS SYLON SNS A SOHIIINVNHK SOAVLSI SO1 IND-EVAUIA HID a v.15310¥d Orve SOWVHY103a
0 0 0 77 Joo 000 000 (Z+1=¢) moEm_Fm_uﬁc_“_ ap sopeauaq sosalbu| ¢
0 0 g 00 000 000 sepejenbi3 sejesapa
sepualajsuel) ap obed ap ajuan4 UoD SOjUBIWEIDUBUIL 8P SOpEALB( sosalbu| Z
0 0 0 000 000 000 uoisodsiqg
aiqr] ap sosalbu) ap obed ap sjuand Uoo SojUBIEIOUBUI 8P SOpEALBQ sosaibul °|
0 SOAeWIOjU| SOje(
yZ9'0vL LOL 199'962°€E 199°962'€€ SBT'LEV'VET 0 S8T'LEV'VET (111 + 11 + | = Al) sosaiBu) ap [g301 “Al
0 0 0 000 000 000 sojusiweinueul 4 ap sopeausq sosaibu)
0 0 0 000 000 000 (¥ = 1I1) sojualwedueul4 ap sopeauaq sosaibuj |
9Zy'6vZ LT STE'BEL'S STE'BEL'E 00°TLL86'9E 000 00°TYL'L86'9E (3+Qa+9+8+V = |l) sepejanbn3 sajeiapa sejouaiajsuel] ap |ejoL ‘|
0 0 0 000 000 000 sepejenbi)j sajelapa seoualajsuel| sesjo ‘3
0 0 0 000 000 000 souoloe|Iqnr A sauoisuad A 'sauoiouaaqng A soipisqng ‘serousiajsuel] ()
0 0 0 000 000 osaulpy opuod (g2
0 0 0 000 000 000 SOINGIBD0IPIH 8p $8.10jonpold soidiviunpy A seanesepe sepephul esed opuod (19
0 0 0 000 00'0 000 (zo+19=9) sauoioepody ap sojulsiq SOpuo4 9|
eLy'LE8') G0Z'L0E 502'L0€ 00°8L9'VbT'T 000 00'8L9'vYT'T solpisgng A soIuaAU0Y) sonQ (9
0 0 0 000 000 000 ugioeubiseay ap soluaauo) (g9
0 [4] 0 000 000 000 uoIEeZI|)UB0Sa( 8P SOIUBAUOD (29
0 0 0 000 000 000 PNES UB [BID0S UQIDI8J0Id 8p SOIUBAuo) (19
ELV'/E8'L S0Z'L0€ S0Z'L0E 00'8£9'7¥1'T 00'0 00'8L9'v¥1'C (pQ+£Q+29+1G=9) SOIUBAUOD g
0 0 0 000 000 000 SeAlEIapa SapEpIUT Se| ap OjusIWIoajeHo |8 eled sauoioepody 8p Opuo (ge|
0 0 0 000 000 000 |esepad
ounsig |ep A sopels3 soj ap ealqnd pepunbag e eled sauoioepody ap opuo (2¢]
0 0 0 000 000 000 soynpy ap A eoibgjouse | uoieonp3 e eled seucioepedy ep opuo4 (ge|
0 0 0 000 000 000 sajdijiny ssuoioepody ap opuo4 (el
€00'ZLY'SH ZES'SYT'S TES'SPT'S 00'SES LSS0 00'SES'LSS0T |eJapa4 OJISI(] [P Se|eLOlLS ] SauolDedIBWag
se| ap A soidioiunyy SOj ap OjuBIWINB[ENO |8 Bled saucioepody 8p opuoS (ve|
L56'666'6 LL5'S82'Y LL5'SBT'Y 00'825'682'vT 00'825'S8Z'YT 121008 BINjONSaEYU| | Bled sauooepody ap opuo (gE|
0 0 0 000 000 000 pnjes ap soIIAIag so| eied sauoioepody ap opuo (Ze|
opepneday opeBuaaaq opesyipo ASBUOINING (p) opewnsy
(a) erouasapq d)jsauojoeljdwy (2) oydesuoy
osaJ8u|
€202 30 OZ¥VIN 34 L€ TV O¥3NZ 30 o} 130 0A0RH3d
VHONOS ‘WNove 3d OIdIDINNIN
G O)Jewo4

407 0av1Iv.L3d SOSIHONI 3d OJILITVYNY OaV.is3
IVHLISINIYL VHIIONVNIA NOIDVINEOLNI




